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. InFig. a, take m; =1kg, my=3kg, 6=30° g=10 m/s” and the force constant of the spring
k=100 N/m. There is no friction between m; and the incline, the system starts at rest with the
spring at its natural length, what is the speed of m; after it has fallen by 20 cm?

(Hint: the conservation of mechanical energy) (10 %)
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One mole of an ideal monatomic gas operates in the cycle of Fig. b.
Find the efficiency of the cycle. (12 %)
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5. Fig. e shows an electromagnetic sinusoidal wave propagating in the x axis. If the wavelength is 30 m and the amplitude of
electric field is 60 V/m. Find (a) the frequency of the wave; (b) the magnitude of magnetic field. (c)What is the intensity of

the wave? (Hint: the Poynting vector § = EB/ 1) (10 %)






